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PL-1 A3)
SECTION -1
wug -1
CHILD DEVELOPMENT AND PEDAGOGY
EICRCEIERCAN NIt}
There are 30 questions in all in this section.
All questions are compulsory.
@IS U 5l 30 TH B |
a¥fi 7o AfET 2 |
1.  Which of the following statement or statements is/are false ?
(a) It is not necessary to understand that each child is unique.
(b) The child develops as unified whole.
(c) Any problem in one aspect of development is likely to affect the others.
(d) Development is a sequential process.
(A) (a), (b) and (c) (B)  (b) and (c)
(C) (o) and (d) (D) Only ()
freaferiad # & W @1 3 B § FUA JE B/ 7
(a) & FHGET Sl T @ Tob ek st JAfgiar 2 |
(b) 1 Teh Tehiehel 01 o &9 H ferehfid Bren ¢ |
(c) TorshT®l o Ueh Uac] H fehHl et <hl GHl i Aol i <hl TR Bidl @ |
(d) forepT T TRt UTHAT 2 |
(A) (@), (b) 3R (c) (B) (b) 3 (c)
©) (03 (d) (D) e (a)
2. occurs when there are orderly and progressive changes in a human being due to
maturation and experience.
(A) Growth (B) Development
(C) Physical changes (D) Mental changes

T« BT A1 Bl ], S TRear 3R 39 RO OIS § hAeg 3TN wifasfiet
e B 2 |

(A) dfg (B) TorsbrH
(C) I Sgama (D) THfgH aied

3.  Which of the following is not a characteristic of early childhood ? ]
(A) Pre-Gang age (B) Imitative age Mﬁ
(C) Questioning age (D) Toyage [=
frfaRad 9 9 o € s= 6 foewar &1 7 ¢
(A) TTh-3Iet 3y (B) TR 311
(C) HaTA i i 3 (D) T 3y

4.  The Nature and Nurture debates refer to
(A) Genetic and Environment (B) Behaviour and Environment
(C) Environment and Biology (D) Environment and Upbringing
Tehfd Td vy foarg fmftied ® § frag awafa g 2
(A) ITTATTEhT T FTATET (B) SIGER T STATaV]
(C) TaTeRul Td etz (D) STTSROT Td YTet= - 95T

P.T.O.
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1.Q. of a talented child is

(A) 130 (B) 140
(C) 55 (D) 120
gfeuTeTTeht STeTeh i gfg ey gt &

(A) 130 (B) 140
(C) 55 (D) 120

Schools should cater for individual differences to

(A) Make individual students feel exclusive.

(B) Narrow the gap between individual students.

(C) Not to assess the abilities and performance of students.

(D) Understand why students are able or unable to learn.
Tl ol ST F=TaT3Ti o1 S T aTfey Hiteh -
(A) T BT i TaRTE Hegy wEH g | Eﬁ
(B) BT o &< o 3T ! HH i 2 |

(C) BT Ud BETSAT ! &Harati 3R Y& &1 T2 T & foru |

(D) EHeH o fore for o dies d§ wnd a1 semd S S © & |

A child of 16 years age, scores 75 in [.Q. test. His mental age will be years.

(A) 8 (B) 14

(©) 15 (D) 12

16 99 311Y 1 ST gfg Al weavr § 75 37 T LT &, ITh! THIEH 311 EL
=t |

(A) 8 (B) 14

(©) 15 (D) 12

Each person’s work is a reflection of certain abilities, in performing any particular task, a
person selects some of his mental abilities as a model. This principle was given by

(A) Thorndike (B) Thurstone

(C) Gilford (D) Thomson

Tceh STk Sl 1 HZad ATIAI3T bl Tfdfens giam &, forel form &/ o1 vt 0 =afed 3ot
T HTG ArIaiat 8 8 $8 i 9idest o €9 H ™ L od 2 | I8 faga fhed feam 2

(A) UHeEH (B) ¥

(C) TrewiE (D) UiHEd

Which of the following is projective technique of personality measurement ?
(A) Rating scale (B) Observation

(C) Interview (D) Thematic appreciation test
= o @ o it =fadae e i e fafr g 2

(A) T amo (B) 3Tt

(C) &R (D) AT TIIU T
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10.

11.

12.

13.

)
Creativity is usually associated with
(A) Hyperactivity (B) Low comprehension
(C) Convergent thinking (D) Divergent thinking
GoHTcHT J&d: fored grafrd 8 7
(A)  FAfEisman (B) ¥ STERTET
(C) IR fe=m (D) 39ER fa==
Which of the following condition promotes adjustment ?
(A) Acute anxiety (B) Obsessive thought of guilt
(C) Fear of illness (D) Free from neurotic fears and anxiety
fr=forfaa o & =9 =t fefa Tamey ® sgEredt 2 2
(A) e = (B) 3T9UY &Y % SR § A1 A
(C) S (D) Tfafere = 3k faran @ gfea
Signs of gifted child are :
(i) Novelty in expression EmE
(i) Curiosity Eﬁ
(ii1) Talkativeness
(iv) Hyper-activeness
(A) (i) and (iv) (B) (i) and (ii)
(C) (ii) and (iv) (D) (iii) and (iv)
lerTeITedt STeteh % w8 = 8 ?
() ifreafad § Terarn
(i) Torsmen
(iii) =aterma TSR
(iv) rfcrafsraan
(A) (i) 3R (iv) (B) (i) 3 (i)
(C) (i) 3 (iv) (D) (iii) 3T (iv)
Who gave the formula of 1.Q. written below ?
Intelligence Quotient = Chrlc\)/ileolﬁ)a;iigf age x 100
(A) William Stern (B) Terman
(C) Binet (D) Galton
gfg @feyr & fore frafetfaa wrden fera feom 7
AR 3T
gfg Afedr = e 9 100
A) Taferm & (B) <
(€) fem (D) e

P.T.O.
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15.

16.

17.

(6) PL-1

Ravi’s intelligence test indicates that he is in category average to above-average of
intelligence. However, his grades in reading, spelling, social sciences and science are very
low. His Math’s grades are quite high and writing skills are adequate. Ravi most likely has

(A) Dyscalculia (Maths Disorder) (B) Dysgraphia (Writing Disorder)

(C) Dyslexia (Reading Disorder) (D) Dysphasia (Language Disorder)

e =1 gfg Terr $fia shear & fob 98 3fied & ooy, 3ita | 31fre gfgaar 1 aofi § amar g |
BTATTh TG, -1, TTTReTeh faeH 3R fos # 36eh U 9gd %A & | 3Heh TT1UTd o U Ik
Jferen 8 | U oRee hivrer 1 3t & | U | 31feres |era 3

(A) Teahempioran (i & wwsifed faenfa)

(B) femmiftean (vraw @ wwaifya faspfa)

(C) Teoxifaaan (Te+ & wwitad faefd)

(D) feahfsEn (Se- & gwfea faspha)

“Learning is a process of progressive behaviour adaptation.” This statement was given by
which educationist ?

(A) Skinner (B) Woodworth

(C) Crow and Crow (D) Gates and others

“ERGFT RTER H SR HTHE shl Teh UTshAT 2 | 98 b fehar faremferg o gro feam mam
(A) feT (B) et oL

(C) ST (D) 71Z8 T 3 ot

Srishti is the student of class two. She was taught basic mathematics by the teacher. Next
day while shopping she pointed out the mistake in total done by shopkeeper. Which type of
learning is this ?

(A) Negative transfer (B) Positive transfer

(C) Bilateral transfer (D) Zero transfer

&N — 2 ! BT GIE HI AR = T TG T o T HER, S e 38 T9R §
T GG o T GhMGR gI 3h1 TR AT <hl TTetdl ol Ffed shich Hal e | I8 3tferm

1 I G THL 3 7

(A) TN TR (B) EehRIcHS THT=0T

(C) Tguafa e (D) I TR

Two opposite desires present in an individual at the same time is called
(A) Conflict (B) Frustration

(C) Anxiety (D) Pressure

Teh SAferd § Ueh THI W < foafid $a51371 1 M1 hadITdl &

(A) T8 (B) %3l

(C) e (D) <& &
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18.

19.

20.

Q) A

Which of the following theory is also known as theory of reinforcement ?

(A)
(B)
©
(D)

Operant conditioning theory
Stimulus response theory
Classical conditioning theory

Theory of insight

fre o @ fope g o1 e 1 fagra s shad € 7

(A)
(B)
©)
(D)

Torama ageeeH fag
EEREZE ERIREEAR] EE
I e g Eﬁ

Ir=gre frgra

Choose the example that illustrates intrinsic motivation.

(A)
(B)

©

(D)

Vandana is working hard to score well in exams as she wants a gift from her parents.
Urmila is completing her homework so that she can watch TV after completing her
homework.

Ila is reading more books so that she can secure first rank in District and her school
get fame at District level.

Megha is exploring various resources for her project because she loves learning new
things.

fa=faftga 9 9 39 e 1 == K S stafes st = esiar g

(A)

(B)
©)

(D)

T eI H 370 3Tk UTod ohid o To1U sha L UieM o 1 & f5ed 98 3194 Arar-fuar 9
JUER T L T |

3T HeTthe TEehrd THTG L I & FiTeh TaehId HHT hieh a8 1.1 <@ Fehll |
3T 95 ARI J&doh U¢ Tal & Fifeh a8 el § TUH T T ohich foeiTerd 1 A e
TR TR U AT A1 2 |

e 39 g R o foe fafir g o @ 2 wife 98 98 el urd s
w2 |

Who among the following has not propounded the learning theory ?

(A) Thorndike (B) Skinner
(C) Kohler (D) B.S. Bloom
T o @ fepar st fergTe =t wicore =& fepar 2

(A) wtfers® B) ferm

(C) HIER (D) #.wH. =

P.T.O.
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22.

23.

24.

8) PL-1

Repeatedly asking children to engage in learning activities either to avoid punishment or to
gain a reward will

(A) Decrease extrinsic motivation

(B) Increase intrinsic motivation

(C) Would encourage children to focus on mastery rather than performance goals.

(D) Decrease children’s natural interest and curiosity involved in learning.

-SR] o] GolT 8§94 I7 348 U o foTu g <hi ifafafer § g g9 o fo sear <=
ERURIE

(A) 3Teh! STEL! IROTT sl 7 HLAT R |

(B) 3eh! 3TT=T{eh IUT ! S@TAT % |

(C) =l ! T&T eI shl ST HERY B i & Ufd &I higd i o T Wieantzd
TR |

(D) S=A1 6 Tehfeae & 3R T # wifirer 21 <At forsmen s 9 war g |

According to RTE Act, 2009 working hours per week for teachers are

(A) 40 hours (B) 42 hours

(C) 45 hours (D) 48 hours

A 3. rfafem, 2009 % TTER fremhi o forg gfd dearg wm o faifa =2 8
(A) 40 (B) 42 —

(C) 45%R (D) 48°%R Eﬁ

Which among the following is different from the characteristics of a Good test ?
(A) Reliability (B) Validity

(C) Objectivity (D) Aptitude

1 1 | o |1 T I TEor <l ferewansti @ fr g 2

(A) Terzererraan (B) dean

(C) g (D) s

Which of the following is most important in learner centered curriculum ?

(A) Teacher (B) Child

(C) Contents (D) Environment
Tregreff shfga ureash # ffefied # 9 F 9o9 7ew@ul & ?
(A) 3IAHMUh (B) o=

(C) forvarereg (D) STaTET
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25. A Reflective teacher creates classroom situations for students to
(A) Listening the lecture.
(B) Taking notes from the lecture of the teacher.
(C) Maintaining classroom discipline.
(D) Promoting interaction between students and the teacher.

s Famamsiiel freres sher-er # U aftfefa Sc= st 2 fo @
(A) HTETH G &b |
(B) he-ha1 T feTeh o AT o AIeH of T |
(C) HeA-heT § AT TR @ |
(D) ®TAT 3R freres o uredfees 31=d:foran ot ieame fired |
26. Action research means
(A) A longitude research.
(B) An applied research.

(C) A research initiated to solve an immediate problem.
(D) A research with socio-economic objective.

foraTees SrgHYT &1 372 B

(A) U 3] UM |

(B) T I STIHUM |

(C) Wb MY S8 deehTet THET ! g1 ToharT ST |eb | mm

(D) s < 35 e o
27. According to NCF 2005, the role of a teacher has to be

(A) Permissive (B) Facilitator
(C) Authoritative (D) Dictatorial

NCF 2005 % 3@, Th fiers st sftrest g1 =1feg

(A) 3G (B) gferermeren
(C) 3TferepTia (D) ANTRIE

28. The purpose of evaluation is
(A) To label children as slow learner and gifted children.
(B) To identify children who need remedial measures.
(C) To diagnose learning difficulties and problem areas.
(D) To provide feedback on the extent to which we have been successful in imparting
education for a productive life.

eATeh o1 3633 T BIAT & 7

(A) =1 ol Hg foremeff o ufaursmeft st & &9 & 3ifehd s & foru |

(B) 3 &= sl UgH A o foTt fg =il U <ht SArasaehan 2 |

(C) ©iE" 1 HiSATSAT 3T TuL &1 1 M H & fow |

(D) 38 T b UYfe TeM T &l deh §H Scarersiiet star b fote e Tem e § aw%d @
gl

P.T.O.
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Match the following Principles of Development with their correct description :

Name of Principle of Development Description of Principle
(1) |Proximodistal trend (a) |Head to Toe Sequence
(2) |Cephalo-caudal trend (b) |Different children develop at different rates
(3) |Inter-individual Differences (¢) |In a single child, the rate of development

can vary from one domain of development to
the other

(4) |Intra-individual Differences (d) |Growth from the Centre of body to outwards

m @ @ @
@ @ @ ® © e

B @ O © @ e

© © @ O @

@) @ b @ (@

frerferfia ferprer % frgrit o1 oo wh ot & firerrt Bifore

T & forgra 1w frgra w1 avH

(1) |efo—guiima fem  [(2) (@ sm

2) |fr - verfirge femm (b) | s= - aaed? |

(3) |3radafeme fiy=rand (c) |fortht wep 5= T forspra 1 X, farshT@ & Weh &1 <ht 3ruem
T Q= gl aedl 2 |

(4) |sfaueafade A |(d) |IR o 5 | STe i ARG

A @ @ @®d (©
B @ @® (© (@
© © @ b (@
M @ ® @ (©

Development proceeds from to .

(A) General — Specific (B) Complex — Hard
(C) Specific — General (D) Simple — Easy
fereprar q 61 AR TGA§ |

(A) @ e (B) Sifeet — i

(C) fafsre —gmm= (D) TR 3TTEH
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34.

35.
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37.

11) A

e - 11
HET -1

o=
@S U HeA 30 TH R |
¥t w9 FrfEr B |

fervsmd foreqor fafr & e A AT HUA 2

(A) IE Teh JFEAIATTED JUTTeA! & |

(B) 98 3= WTEAeh &L o Tarieian o foru arferes 3wt 2 |
(C) P Haed - 34 faftr =i ffvea w9 yem foan |

(D) WY1 < AT T HTfeea i fren g fafer & i < < wewet |

STes frem yomedt & wyrar <6 fen FrafaRga da fre mem e S aewdt 8 7

(A) hadt fpaefl A H | (B) TR FATERT F |
(C) SAIfd-gaeh ohaT=a ¥ | (D) T8 &I & |
o7 f3requr o T H Jferdeh ST e HuTTeft <6t o w7 %ﬁ

(A) 3o ferameff w6t 9T % aall 1 T THTe TG B BT S FehT & |

(B) 3au foremeff ot ymarht SHiwet # <&t foran S ThaT B |

(C) zuH Safaaes freor w 31feres ot feam San 2 |

(D) g fareqor yurreft 31frep ferenfefar aneft o<t e o steamm & fow Iwamf 7 2 |

0 @ i @1 giEfara 3resee U’ 1 9igH g B 7

(A) 3ITEIIH HE T AEA |

(B) 31&9¥H 7q e |

(C) Terenfofat gron wameam wa f3rersh gr wmiew |

(D) heATcHeh TS |

FAYYH WA qUT FHE HThId & G0 I fAGTHT TR HC |’ Ieaiigd a1q fohd &R/
ferenfor 3q w& A R 2

(A) TS TS | (B) = MUMHH TR |
(C) Teafs T | (D) 3= HIeAS TR |
TT-hirelt § | JTfieafad vt 2 :

(A) G 3R ST | (B) foraar 3t we |
(C) SieT 3R T | (D) YT 3T ST |
oG fope WToT hivrel ¥ el ® 7

(A) €0 (B) 9=

(C) oG (D) dTed
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45.

(12) PL-1

TR (Tene wimr) form Tehr <Y rferm a2 2

(A) 9&Teh gt (B) v amft

(C) TWE-¥F wwl (D) =3 gt

TS ST < ST § Gfiferd &l 2 :

(A) TS | (B) 9901 T |

(C) Tz e | (D) oz e |

TR AR

(A) 3TTIE IR (B) fegsrar

(C) 3fua ey ffm (D)  3TEaTHTferehdr E%
s Tt 3w i I e -

(A) TiRges geaieh § <3 J99 98 14 ¢ |

(B) Tifaeh geishehal (HBTEM, Teefiet 3R fowx fersms g =nfew |
(C) HiRgeh YouTehd H THEMET 3T g A1 |

(D) Tifae goieh § forameff o6t samfireafad o sraer %0 firem =ifa |

“HeATeh IGCTAT 1 TG <l T o1 faofar o6 6t wishan 2 |7 Hourierd <t @rg wftem ferareht
27

(A) WIEHicTE (B) di.@. m

(C) =@ (D) TgERH

feremeff <h1 € et SHicTsl 1 QU HLd gY HER T aTeTl &7 shgardt 8
(A) g&w fareqo (B) sATeh fareqor

(C) 31rd Treqor (D) SU=IcHe f3reqor

Haq Ud SATIeh HoTeh I GY & :

(A) U feenfofR o1 fiat gourmer gid &ar & |

(B) Toenfei i 3t it 1 fi IR B a2 |

(C) zan rfrvTeehi ol feremeff i faaw wrfer <t Seet Bl Tt 2 |
(D) 3 SoTTett qeft TR sht ST Tehet & Sre foremeff-foreres Stuma %0 & |

Iqeey Trequr o FrwTor H fha Uei ot SR foRa ST & 7
(A) @ (B) M
© T (D) =X
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TR T < STTHTR W Te HE&AT 46 € 50 Toh o ST ST :

TS T T4 Fed it T 8 | | B 2 5 forie wiwat @ s o diedt 13
AT 14 <1 forodia aRtfeafaai § 319 1 oot § @1 81 T Hehd 3R 39 9T < 919 98 91d &, o
Y ICTT BT T T B Tebil | 3ok ToTT A1 I8 g1 A1TeT foh o Shiford T gL IS o 99 & | T
T 3reEe o Tuft i Teredt ® | S e THa e UiiRafd o THe oid §, o Sl enat 7€l 331 dehd
3R HlSATgAT b sft=r oft 70T TEAT ATt o 8 | ST SRt o 3Heh farded 3R gva wwme & oft
ST B T hd & | wifehd, TH o <ht off T et St 319t aieen & s 81 3d @ 3Tt ug
T L 93d &, T8 3ok M Siiaq | 3717 1 TN I a1 & | Teeh T b Siiad H 35¢vd
T TTfeT | A Tramr his 3e¥d & &, a1 GF %l A B | 9T AT 77 3Eh! qFe ST STTEI9areh
2 | 3ECTIEH AT TorT udaR 1 19 il TWE # |

46. ‘G v o U wiu-fa=se B

(A) ®g+Td (B) ®II+Ud
(C) "+ (D) @1 +1ud
47. Tfafga 88 fow’ e =1 wibar s @ ¢
(A) 99 (B) 3uia
(©) 3t (D) A
48. ‘Taeft’ wree o1 foremi B0 -
(A) e (B) rEieh e
©) =9 (D) THdH
49. T ¥ Y TG V&g ¥ IV B :
(A) AT | (B) T W e |
(C) "I | (D) | I femm |
50. ‘OIS WG R
(A) 3I=I¥ (B) TaaT=eh TSl
(C) SferaTereh 3T (D) SAfFTaT= T

FAfeTREd T < SATHR W Te7 §&AT 51 € 55 T o It ST :

39 (U, i T S8 I1E1 51 3R IHeh! TEh{d — 37 I o FiHIfeld €9 § TF I WET a0
2 | fi % Hiftges ®9 3R Tfg o Ui Tod 1 SHI haed & | ST TgIar geat < |1 It a1 g,
Tz friet giet & | et A hi hrg ° S 3y FiE w1l uh €, 376 o R 98 IgE wEdd ¢ |
TG TR T o STel TS Y I GE 37§ | 39k R0 &1 Il AT 1 S S hiell & |
gt AT & 3R 59 T 3191 H 42 &1 94 ¢ | &l I8 9T 21 &, J81 5 SR Y 1§99 =
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

To free the slave, the chains

(A) being removed (B) had been removed
(C) isremoved (D) was being removed
The convict by the neck till death, was the verdict.

(A) 1isto hanged (B) is being hung

(C) 1isto be hanged (D) is to being hang

‘She said to her son, “What do you like ?”” The indirect speech of the sentence is
(A) She asked her son to like.

(B) She asked her son what will he like.

(C) She ask her son what he liked.

(D) She asked her son what he liked.

The phonetic sound of the letters underlined in the word ‘together’ is represented by the
symbol

(A) d B) 6

©) o (D) d3

Which is the correct transcription of ‘question’ ? EamE
(A) ‘'ku:s Jon (B) 'kwestfon Eﬁ
(C) 'kwu:ln (D) 'kwuschn

‘Learning is made stable and everlasting’ is a merit of

(A) Bilingual Method (B) Structural Approach

(C) Direct Method (D) Communicative Approach

‘Priority of Reading’ is a principle of
(A) Translation cum Grammar Method
(B) Dr. West’s Method

(C) Structural Approach

(D) Communicative Approach

P.T.O.
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‘It stops power of thinking freely’ is a demerit of
(A) Bilingual Method

(B) Direct Method

(C) Translation cum Grammar Method

(D) Substitutional Table Method

Bilingual method includes
(A) Translation by teachers only to explain the matter.

(B) Insistence upon reading only.
(C) Insistence upon writing only.
(D) Optimum exposure for discussion.

The receptive skills comprise
(A) Listening and Reading (B) Listening and Speaking
(C) Reading and Writing (D) Reading and Speaking

Writing is more complicated skill because of

(A) its variety of fields. i

(B) its last position. Eﬁ

(C) its inclusion of other subjects.

(D) graphic representation and presentation of structured thoughts.

Language games help
(A) to improve speech (B) to build structures
(C) to build vocabulary (D) to learn grammar

Assessment of broad learning behavioural outcomes is a feature of
(A) CCE (B) Peer Evaluation
(C) Formative Assessment (D) Summative Assessment

Which one is not a characteristic of Peer Evaluation ?
(A) Effective monitoring (B) Metacognition
(C) Saves teacher’s time (D) Faster feedback

Cloze Test Evaluation was described by
(A) C.J. Dodson (B) Woods
(C) W.L. Taylor (D) Roberts Paul
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Passage (For Q. Nos. 46 to 52) :

The messenger had no idea what all this was about. If King Avinash meant to attack his
king’s fort then all was lost. For King Bahadur was old and weak. These days he spent most of
his time in prayer. After much thought the messenger decided on a plan. “Sir, I do not know
why are you so angry,” he said. “All I know is that King Bahadur has gone mad. I cannot work
for him anymore. I had decided to the court and work elsewhere. If you will take me in I will

gladly work for you, my lord.”

46. The synonym of ‘attack’ is
(A) war EE (B) dispute
(C) invade Eﬁ (D) conflict

47. The synonym of ‘mad’ is
(A) sick (B) insane

(C) nervous (D) sensible

48. The antonym of ‘angry’ is
(A) sharp (B) infuriated
(C) calm (D) peace

49. The one word substitution for ‘old and weak’ is
(A) infirm (B) sick
(C) humble (D) polite

50. The correct noun form of ‘decide’ is
(A) decade (B) decided
(C) decision (D) deceive

51. The correct verb form of ‘lost’ is
(A) loose (B) lose
(C) loss (D) lest

52. The correct spelling is
(A) patiritism (B) partritism
(C) patriotism (D) potriotism
P.T.O.
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Passage (For Q. Nos. 53 to 59) :

Being free filled me with happiness. Now that my chains had been removed, I could see

the capital city. Everyone was ordered to stay indoors in case I stepped on them and they got

crushed. The first building I saw as I stepped over the city wall was the Emperor’s palace. It was

charming just like a big doll’s house. I had to lie down to look inside and as the Empress came

to the window smiling at me, she gave me her hand to kiss.

53.

54.

55S.

56.

57.

8.

59.

60.

Which part of speech is ‘Happiness’ ?

(A) Adjective (B) Noun
(C) Verb (D) Adverb
‘The Empress came to the window smiling at me.” Here ‘smiling’ is
(A) Noun (B) Verb
(C) Adjective (D) Adverb
EE
‘Being free filled me with happiness.” The sentence is in Eﬁ"
(A) Present perfect (B) Past perfect
(C) Pastsimple (D) Present simple
‘I had to lie down ...."” The sentence is in
(A) Pastsimple (B) Present simple
(C) Past perfect (D) Present perfect
e she gave me her hand to kiss.’ In this sentence the determiner used is
(A) she (B) her
(C) to (D) me
‘It was charming just like a big doll’s house.’ In this sentence the determiner used is
(A) just (B) like
(C) a (D) big
‘Freest’ is the superlative degree of
(A) fire (B) freer
(C) firer (D) free
The farmer fastened the bull tightly to the stake. The correct question for this is

(A) What did the farmer do ? (B) What does the farmer did ?
(C) Why did the farmer did ? (D) Why does the farmer did ?
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SECTION-III
LANGUAGE-II
ENGLISH

There are 30 questions in all in this section.

All questions are compulsory.

In the lines given below the literary device ‘Metaphor’ is used in
(A) Betty Botter bought some butter.

(B) Ascold as ice.

(C) A host of golden daffodils.

(D) It is the east, and Juliet, the sun.

A genre of drama based on human suffering and, mainly, the terrible or sorrowful events
that befall main character is known as

(A) Tragedy (B) Comedy

(C) Irony (D) Autobiography

A ‘Fable’ is an example of EpE
(A) Rhyme (B) Short story Eﬁ"
(C) Sonnet (D) None of these

My father swim very fast when he was young.

(A) can (B) may

(C) could (D) must

Choose the alternative which best expresses the meaning of idiom/phrase given below :
“No Pain No Gain”

(A) You have to work for what you want.

(B) Wait for the right time.

(C) Take care of your pains.

(D) Do not harm others.

‘To avoid talking about what is important’ the idiom/phrase which best expresses the
above meaning is

(A) Hit the sack (B) Up in arms
(C) Beat around the bush (D) Sell like hot cakes

Choose the correct phonetic transcription for the given word : ‘Thin’
(A) /tie/ (B) /6m/
(C) Jon/ (D) /dei/
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Which of the following contains the same vowel sound ?
(A) tell —bell —cell (B) know — now — bow
(C) put—cut— cute (D) All of these

Find out the word which begins with different sound from other given words :
(A) High (B) Hike
(C) Hire (D) Beat

Choose the correct phonetic transcription for the underlined sound of the word : Call
(A) /knM/ (B) /ko:l/
(©) /kel/ (D) /kaeml/

Which statement is not correct about communicative approach ?
(A) Itis practical in use.

(B) It is situational, meaningful and self-rewarding.

(C) It develops the speech ability.

(D) Itis teachers centered approach.

In structural approach the word ‘structure’ relates to the structure whereas ‘approach’
stands for

(A) Going away (B) Coming near Eﬁ
(C) Sincere (D) Intelligent (=l

The teaching which is needed for the students who are in general backward in studies and
fail in one subject :

(A) Remedial teaching (B) Advance teaching
(C) Classroom teaching (D) None of these

The process of finding out the extent to which the desired changes have taken place in the
pupils

(A) On line lectures (B) Evaluation

(C) Co-curricular activities (D) All of these

An important part of any evaluation in which the teacher should prepare a record sheet for
each student indicating the different skills to be tested is

(A) Record keeping (B) Notice book
(C) Class teacher diary (D) Monthly attendance

Which one is not a type of digital portfolio ?
(A) Developmental (B) Reflective
(C) Representational (D) Occupational
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Passage (For Q. Nos. 77 — 83)

Non-biodegradable plastic is one of the prime targets of environmentalists across the
world, but, we, too can make a difference — by spurning that plastic bag for cloth, by buying our
aerated water in glass bottles instead of plastic, by demanding glass milk bottles instead of
plastic pouches, by using that sheet of paper on both sides, by recycling vegetable waste and tea
leaves as manure. The media can also play an enormously significant role in this respect. It is
not difficult to make a beginning; it is far more taxing to sustain it. But the payoffs of sparing
just a little thought to where our waste goes, promise to make it worthwhile. Sometimes you see,
waste can kill.

77. One of the prime targets of environmentalists across the world non-biodegradable
plastic.
(A) are (B) is
(C) was (D) were
78. We should carry cloth bag plastic bag.
(A) despite (B) inspite of
(C) instead of (D) as
79. Common man media can play a significant role in this respect.
(A) whereas (B) but
(C) aswellas (D) though
80. Vegetable waste and tea leaves recycled into manure.
(A) was (B) is
. EE
(C) canbe (D) if
e
81. Small efforts can a big difference in reducing plastic waste.
(A) get (B) make
(C) made (D) take

82. The most suitable title for the passage is

(A) The urban life (B) Waste and media
(C) Waste management (D) Pollutants

83. In order to reduce plastic waste, plastic pouches can be by glass milk bottles.
(A) wused (B) replaced

(C) stored (D) none of these
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“Slithery, slidery, scaly old snake.”

The literary device used in the above line is

(A) Simile (B) Metaphor
(C) Alliteration (D) Irony

The literary device present in the line “I am as quick as a cheetah”, is
(A) Satire (B) Alliteration
(C) Hyperbole (D) Simile

“Upon a nice mid-spring day
Let’s take a look at nature’s way
Breathe the scent of nice fresh air
Feel the breeze within your hair.”

The rhyme scheme of the above line is :

(A) AABB (B) ABAB
(C) AABA (D) ABAA
“All the little corn flakes were so excited, Em
They were getting to come out and play.” Eﬁ

What is personified in the above lines ?
(A) All (B) so excited
(C) corn flakes (D) All of these

A mournful poem, typically a lament for the dead is called
(A) Drama (B) Comedy
(C) Sonnet (D) Elegy

The literary term used for a poem of fourteen lines using any of a number of formal rhyme
schemes is

(A) Short story (B) Sonnet
(C) Elegy (D) Allusion

“Who knows why the cold wind blows !”

The literary device used in the above line is

(A) Personification (B) Hyperbole
(C) Assonance (D) None of these
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(A) 3TH (B) 3

(©) 35 (D) #&
yIfentt Gua fguer fedt I

(A) s ety (B) u33sfedty

(C) wufea fedtd (D) wf3-wrufes fedt I

Jaret fifim € A9 et At QU 9= a9
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‘Ja’ TTHEfeI vgE J
(A) BT A fo0H3 U TS g5 | (B) H&=m 7 f6WH3 JU &5 136 |
(C) I53TBT | (D) AIS A ST |
He T9s It femmar J ¢
(A) feaefdz IAR-wfmis S Ygs | (B) I UH-WH I T96 3957 |
(C) <TI-TIATIS IS | (D) €3St wem TT95 435" |

feudt miart § He Jt Ho &9 faat nem i3, »i9 J[fde J96 <t fafon fan 96 »fts
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(A) G<t=zvs (B) dfesTars

(C) 3Zadls (D) W&

‘s I’ feg fiftmr 2 8en 7% ¢ OE{O]
S

(A) fefonradhn feg ges &t It E3ia s9a |
(B) »J¥ Jfae I35 < WargT G 3957 |

(C) TIITTHEI § AHTS & War3™ fed A3 J9&T |
(D) Sudaz wa Tt

I fift 39 Fofed S8 T T8 AUst @ Adt e 9e ¢
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(C) I, & (D) JIFQ, 99<

g 9397 § 37 99 Y=IH3 996 T8 W3d § ol Afd< Ia -

(A) Ufscs §93 (B) »nfizetimay
(C) TISEI3 (D) foGn a3

“Ags fIg Ie fefantad € feeara ufgedss © Hey fT9 Y € Hass 3 89T <t fanfrfimr
35 <t Yfafonm § yaae afde 96 17 feg qus fan feses 2 J :

(A) ITBs (B) =395

(C) wHeele (D) HT wit

I T T Ao It 3 femEayd=d &2 fd - s fan udtfmr er ayaT J
(A) fegustia yditfimr (B) =A3fons ydtfinr
(C) vgeydifemr (D) & &t
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ErE
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(A) It (B) fod3
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T AT AR |
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Ffe-de 39 fan g2 < st W I T 2
(A) <ugt (B) d3="
(C) §3 (D) ==
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(A) Ag—aT3r (B) 3 —HAE
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A FEE IHIEI ?
(A) &3 (B) F=Id
(C) #&3 (D) wfom3
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(A) =t (B) =9

(C) HareHr (D) famr EE
B

et g fe9 €, o1, &, fad fAd =aa 75 ¢

(A) fonlns (B) o=Jar &

(C) fonivs=gd (D) AT

‘B’ T96 § TIGHST < T =gar g =fgnr faprm 9

(A) <=<Ja (B) 3<Ia =dr

(C) 9=3ar (D) Hy=Jar
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(A) T35 B) ¥

(€) = (D) T

o3yt Afggraerd:
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(C) JB»hI (D) <SS

TR-II3, ¥FeT, B9, 9537, mee YAt & faodt Gusmr a7 Hefu3 76
(A) Ha=Et (B) 3drdt
(C) Wt (D) A
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(67)

SECTION-1V / @Ug -1V

MATHEMATICS /o1

There are 30 questions in all in this section.
All questions are compulsory.
T @UE H Fot 30 TH B |
Teft o SafEr € |

Which of the following is the correct Prime factors of number 420 ?

(A) 2x2x7x15 B) 2x2x5x21
(C) 2x6x5x%x7 (D) 2x2x3x5x%x7
frferfiaa o @ 6 |1 T@ 420 1 TE IS PEETE R 7

=
(A) 2x2x7x15 (B) 2x2x5x21 Eﬁ
(C) 2x6x5x%x7 (D) 2x2x3x5x%x7

LCM of any two numbers is 60 and HCF of them is 5. Which of the following are those
numbers ?

(A) 20,30 (B) 10,30

©) 15,20 (D) 15, 40

foregl g1 T3t 1 gAY auTIEd 60 § U9 Hgd J9I9eds 5 8, d MEfiad § | 98
HEATE i T gt 2

(A) 20,30 (B) 10,30

©) 15,20 (D) 15, 40

If a Consequent of ratio 5 : 7 is 35, then what will be Antecedent ?

(A) 25 (B) 36
(C) 45 (D) 49

Jfe Teh IFUTT 5 : 7 1 TS 35 7, A IHehT GG 1 &N 7
(A) 25 (B) 36
(C) 45 (D) 49
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4 men can complete a work in 20 days, then 10 men will complete the same work in how

many days ?
(A) 2 days (B) 8 days
(C) 12 days (D) 50 days

4 3TTeH} T S 1 20 e H 90 L &, a1 10 TTeHT et % i fehad T H qu 1 2
(A) 2fe (B) sfe

©) 12f= (D) 50fe

On selling an article for ¥ 329, a dealer lost 6%. The cost price of the article is
(A) 31037 (B) ¥348.74
(C) %335 (D) %350

% 329 H Teh %] I S T Teh ST I 6% h! BTH T3, I 9%q 1 53 [oI T8 ?

(A) 31037 (B) 34874 EriE

a

(€) 335 (D) 350

Average of three numbers is 40. If average of two of them is 38, find the third number.
(A) 38 (B) 40
) 42 (D) 44

T GETAT BT 3NEA 40 2 | Ife 378 ¥ T G&A1AT bl 3NEd 38 B, dl g g gefl

(A) 38 (B) 40

(C) 42 (D) 44
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97.

98.

99.

(69) A

What will be the amount received on ¥ 3,000 for 2 years given at the simple rate of

interest 11% per annum ?
(A) 2,340 (B) 3,660
(C) 4,320 (D) 3,330

3,000 T 2 99 o fTT 11% Y anfies greamor st < @ ferat ety umg grft ¢

EHE
A) %2,340 B) 3,660
(A) (B) Eﬁ

(C) %4320 (D) 3,330

The difference of simple interest for 2 years and 3 years on a sum of ¥ 2,100 at 8% per

annum is
(A) 336 (B) T168
(C) 21,680 (D) 504

32,100 TAYH TS 8% STk ht X & 2 9 371X 3 I o TIERUT ST ohT A= BT —

(A) X336 (B) %168

(C) % 1,680 (D) %504

A bicycle is purchased for X 1,800 and is sold at a profit of 12%. Its selling price is
(A) 1,584 (B) 2,016

(C) 1,788 (D) T 1,812

T TTEfehdl T 1,800 T GGt 12% TN T o=l 715 1 35ehT forshdl Ted & —

(A) T 1,584 (B) 2,016

(C) %1,788 (D) 1,812
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101.

(70)
100. In the given figure, the value of'a is
A C
'\ . /
FaN
B« >E
40° Sa
F / N\ D
(A) 5° (B) 10°
(C) 20° (D) 50°
et dawmam g :
A C
'\ . /
FaN
B< >E
40° Sa
F / N\ D
(A) 5° (B) 10°
(C) 20° (D) 50°
If 1 m? = x mm?, then the value of x is
(A) 10000 (B) 1000
(C) 100000 (D) 1000000
Ffe 1 o Hiet = x a1 fefifict g 8, A x ST A B
(A) 10000 (B) 1000

(C) 100000 (D) 1000000

i
75
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102.

103.

a1

15 m? is the area of

(A) A square having side 15 m

(B) 3 squares having side 5 m each
(C) 5 squares having side 3 m each

(D) 15 squares having side 1 m each

15 & Hiet Smthet 8

(A) T ol forgehl o 15 et R |

(B) 3 ot foreehY Tk <t ygott 5 it B |
(C) 5 Roweh! weeh <hl Y11 3 Hiex B |
(D) 15 ot forem yeeh bt 9ot 1 Hfiex |

Find the volume of the given figure.

3y
y
2y
(A) 6y (B) 6y’
(C) 22y (D) 9y°
& TS THT T I T4 HIRTT |
3y
y
2y
(A) 6y (B) 6y’

(C) 22y? (D) 9y?
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104. “Music is a modern secret exercise of the subconscious mind of a human being related to

105.

the numbers of arithmetic.” This statement is related to which value of mathematics ?

(A) Intellectual value (B) Cultural value

(C) Artistic value (D) Social value

“Ffd A o Tl T T SRV <hl T & THaIf-d Teh Y T« AW 8 |7 I8

e T % fohe o © Trafa B 2

(A) sfgs Tea (B) @TEhfcrh et
(C) hATcHS oI (D) M qoo
RICE is a rhombus. Find the perimeter of the rhombus according to the given
measurement.

C

12
E 5 x+2 I
xity
R
LIPS L]

(A) 20 (B) 28 Eﬁ
(C) 52 (D) 68
RICE Us §9=gHS & | 3Tehid H e T AT < YR T FHAGHS 1 T 14 HITT |

C

(A) 20 (B) 28
©) 52 (D) 68
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106.

107.

(73)

“Mathematics is a mirror of civilization and culture.” Who gave this statement ?
(A) Locke (B) Galileo
(C) Hogben (D) Roger Bacon

“TTTOTA FIAT TS T 1 GV 7 |7 I8 e fopa femm ¢
(A) @M (B) Wehferan

(C) BieH (D) UK S

Which method is based on the principle of “To observe and learn” ?
(A) Inductive method
(B) Programmed Instruction method
(C) Laboratory method _—
et

“fordteqor KU 3T HiEr o fgrd e € fafyr smami@ @ 2

(D) None of these

(A) A fafeyr
(B) 3f¥shitra S1eeH fafy
(C) SamTRITe farfy

(D) T8 | IS T
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109.
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Which system is not applicable for mathematics teaching through playway at primary

level ?
(A) Montessori (B) Kindergarten
(C) Dalton (D) Lecture

Tk TR TR G-t & T f3reror w3 fore spie oY soereen oy 2 Bt B 2
(A) Hiewd (B) fhewmea

(C) Sleed (D) ==

The purpose of diagnostic testing is

(A) To find out the efficiency of the teacher.

(B) Developing different skills of children.

(C) To improve teaching and learning process in mathematics subject.

(D) To examine the suitability of teaching methods.

TrerTere e 1 3ew § — =

f5

(A) Torers Y HrREIHIETAT T IdT AT |
(B) dTeTehi o Tl shiwrett o1 ferepre st |
(C) TIfora forer shi 37e=H W ST Ufshan & ER T |

(D) Toreqor farfrrt <ht Iugeraan <t SiTe &t |
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110. The best appropriate method for teaching the area of a circle is
(A) Inductive method
(B) Deductive method
(C) Lecture method

(D) Laboratory method

I T A TG 1 Far Iugard farfer & —
(A) 3T fafy
(B) T ferfer EE
S
(C) =M fafy

(D) ST fafer

111. Slide rule is used in Mathematics for
(A) Multiplication and division
(B) Angle measurement
(C) Make the shape smaller and larger

(D) Measurement of angle of elevation

TfOTd o TITSS & 1 STIN Bl 8
(A) T Td 9ISH % foTu
(B) <hIVT HIUA o foTu

(C) 3T I BieT & F&T FHT o fo1g

(D) 314 I ATI % fetw
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Which of the following statement is not related to nature of Mathematics ?
(A) Abstract elements are explained in Mathematics.

(B) Area of generalization is limited in Mathematics.

(C) Mathematics is a universal subject.

(D) Number, places, measurement etc. are the basis of Mathematics.

T3 ® @ i T e Tfora <hY skt & Tt e R
(A) IO H 3T Yol <hl ST Y ST ¢ |

(B)  TTIUTa B WA T & EHifid 2 |

C) T Teh Freifies fma 2 | o
(©) Th 2 Eﬁ

(D) AN, T, ATY STIE T o SMER 7 |

The word ‘Curriculum’ is taken from which language ?
(A) German (B) Latin
(C) Arabic (D) None of these

&g “Hliper” fohg amwT A ferm R B 7
(A) S (B) af=
(C) ol (D) 3 & IS TEl

Making tables in Mathematics comes under which specific objective ?

(A) Skill (B) Application
(C) Understanding (D) Knowledge
TfUTd & SOl ST fere oy 389 % 3r=ia 3T @ 7
(A) HIvE (B) 3TN

(C) oy (D) I
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115.

116.

117.

(77 A
Which is the correct numeric form of “Ten lacs twenty thousand three hundred five” ?
(A) 1020305 (B) 1200305
(C) 10200305 (D) 12200305
TH TG o9 FIR A E 9" 1 gl RS 9 7

o)
A) 1020305 B) 1200305
(A) (B) Eﬁ

(C) 10200305 (D) 12200305

Make a greatest and smallest number by using digits 2, 5, 7 and 8. Then find difference of

both the numbers. Then from which of the following number this difference is not divisible ?
(A) 2 B) 3

© 5 (D) 9

31 2, 5, 7 3T 8 =T ITANT HLd T A ST 9 T BT T&AT T8 | 376 3 g1 q@nadi
1 3T 1A BT | 5133 76 =g 3t frer 8 | fora deen @ fownfra 7 € 2 2

A) 2 (B) 3

<€) 3 D) 9

In which of the following alternative 500 is not the place value of 5 ?
(A) 2569 (B) 6529
(©) 9256 (D) 9562

T i A oH 3 foemeu § 5 o1 T AH 500 &R ?

(A) 2569 (B) 6529

(C) 9256 (D) 9562
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118. Which of the following is the correct descending order of fraction ?

119.

120.

(D)

(78)

How many Prime Numbers lie between 1 to 30 ?

(A)

©)

8

10

(B)
(D)

9

11

19 30 @ = forat 31959 g T 8 7

(A)

©)

Which of the following ratio is greatest ?

8

10

(B)
(D)

4 1 ®)
© = (D)
o= o @ 6 = 31U T weIR 7

@ 1 ®)
© = (D)

9

11

PL-1
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123.

(79)
SECTION-V /@Ug -V

ENVIRONMENTAL STUDIES / YJTaR0T 318

There are 30 questions in all in this section.

All questions are compulsory.
3 TGS A T 30 T 7 |
¥t I STFEE 2 |

Which Lok Devta in Rajasthan is related to obsecration of Lachha Guyjri ?

(A) Gogaji (B) Ramdevji

(C) Pabuji (D) Tejaji

TSTEAT T S & leh ¢adl bl e ATST ORI I M T & 7
ErE

(A) TSt (B) THeES sl

(C) et (D) qTsil

Choose the right group for means of transport by roadways :

(A) Jeep, Scooter, Boat (B) Cycle, Car, Jet

(C) Bus, Truck, e-rickshaw (D) Bullock-cart, Camel-cart, Flying car
T HIT ATATIATA o T o Tal THE I i -

(A) S, Tpex, A= (B) 3fhet, R, S

(C) =, 7%, 3-famm (D) eRTIE, el efrs hr

Which disease results into low platelet count in the blood ?

(A) Chicken pox (B) Diabetes

(C) Amoebiasis (D) Dengue

Tor® T < SHUT T H Wiecied oh T HH B 1 8 7
(A) T die (B) WYHE

(C) rfreTufim (D) ST
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124. Which of the following is known as ‘Manchester’ of Rajasthan ?
(A) Jaipur (B) Bhilwara
(C) Nagaur (D) Beawar

fr=ferfiaa d 9 forgen! TS &1 W=t ST A1 R 7

(A) SEX (B) fietamer

(C) HmR (D) =R

125. Where Sonar fort is situated ?

(A) Jaisalmer (B) Jaipur
(C) Bharatpur (D) Rajsamand
"R g1 el ferd @ 7

[meE
(A) SEAR (B) SRR Eﬁ
(C) AR (D) TSHEHe

126. For which community of Rajasthan conservation of forest and wildlife has become a part of

their religious tenet ?
(A) Gurjar (B) Sahariya
(C) Bishnois (D) Meena

TSTEY % i Y TS % ToTT o T F=I9Toft TR0 3k eTfifeh 3181 T W o1 T8 ?
(A) TSR (B) efn

(©) fowg (D) o
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127.

128.

(81 A

The name of an age-old concept of water harvesting in Himachal Pradesh is —

(A) Surangams (B) Kattas
(C) Kulhs (D) Eris
TeaTaret e § STt TIET <hl G Fehed T 1 A § -
(A) g™ (B) e
©) Fe® (D) th&

Select Jayanti from the following, which is celebrated on the 13™ day of the rising moon of

Chaitra.
(A) Mahaveer Jayanti
(B) Gandhi Jayanti
(5  [5]
(C) Ambedkar Jayanti Eﬁ"

(D) Hanuman Jayanti

frferfaa o & o s g3, ST fop <=1 wr <Y goret v ohl @ o e g ST B
(A) HETER SRt

(B) Tt STt

(C) 3TSZHL A

(D) TIAM STt
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129. When was Namami Gange Project launched ?
(A) 2011 (B) 2012
(C) 2013 (D) 2014

THTH T S o1 WRY e fehart TR T ?

(A) 2011 (B) 2012

(C) 2013 (D) 2014

130. Crocodile belongs to which class of Animal Kingdom ?
(A) Aves (B) Reptilia

(C) Amphibia (D) Pisces

T, TT9f ST7Td o fohd Tt h1 & 7

(A) ueft (B) &gy

o

(C) STeT&eT=il (D) "™

131. Suncity is the name of

(A) Jaipur (B) Jaisalmer
(C) Barmer (D) Jodhpur
I fopgehT A 8 7

(A) SR (B) SEeHR

(C) sTEW (D) SR
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132. Match the following and choose the correct option :

Hormone

(i)  Growth hormone

(i) Insulin

(iii) Testosterone

(iv) Progesterone

(A) (©
(B) (a)
© ()
D) (@

(i)
(a)
(b)
(d)
(©)

(b)

(©)

(d)
(1i1)
(d)
(©)
(a)
(b)

Function

Regulation of sexual characteristics in male
Stimulates growth in organs
Regulation of sexual characteristics in female
Regulation of blood sugar level

(iv)

(b)

(d)

8 3 5]
(©) S

(a)

freferiaa w1 gufera i qun @&t fashe =1 =@ & -

BN
() e T
(ii) ¥gfe
(iii) TR
(iv) TSl

(1) (i)
(A) (o) (a)
(B) (a) (b)
©) (b (d)
D) (@ (c)

E2R]

TH Tfire Al 1 e
3 ¥ gfg I e
HTET | iRTeh A&l shl T
T § YU Tt T A
(iii) (iv)

(d) (b)

(©) (d)

(a) (©)

(b) (a)
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133. When is special discount provided on the price of the clothes made up of Khadi ?
(A) 26 January (B) 2 October
(C) 21 June (D) 5 September
@Iél o 5 @l bl himd T TR ge he A A R 7
(A) 26 =’ (B) 2 3T

(©) 2154 (D) 5 foamr

134. What is the main reason for the difficulty in breathing while mountaineering ?

(A) Steep slopes (B) Extreme cold weather

(C) Low air pressure (D) Icy wind

TIAEYT o G |1F T H HISTE 1 T&F R & -

(A) G eTH (B) 3rcaferes 31 HiEm

(C) A IEE (D) whief ga %%

135. Which of the following come under the abiotic component of the environment ?
(A) Plant (B) Air

(C) Animal (D) Bacteria

fa=faftga 9 9 %9 qatew % a9 & JTaid A 8 ?
(A) dIcH (B) 91

© 4 (D) ey
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136.

137.

138.

(85)

Which of the following is the food of Silkworm ?

(A) Mulberry leaves (B) Jamun leaves
(C) Neem leaves (D) Mango leaves
forferaa & & tehie 1 W FH AR 7

(A) & I dfz (B) ST 1wl
(C) < ufr (D) 31 i ufea

Which alkaloid is found in the tobacco ?
(A) Cocaine (B) Caffeine

(C) Nicotine (D) Morphine

TFETE T M T Ueehalise T ST & 7
(A) i (B) HHH

(C) Tt (D) W

Rabies disease is caused by

(A) Virus (B) Protozoa
(C) Bacteria (D) Mycoplasma
it U1 o1 e BT B

(A) drR™ (B) eI

(C) st (D) HTSHIATSHT

o
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139. Which of the following is not a human source of water pollution ?
(A) Domestic effluent
(B) Sewage
(C) Industrial effluent

(D) Humus matter

freferfad o i o1 St ST 1 AT S T R 7
(A) =] dfewmE

(B) dfedsicl

(C) 3frenfires afg:@ma

(D) 7 Terd

140. Example of fibre which is obtained from animal.

(A) Cotton (B) Polyester
(C) Nylon (D) Silk

S | T 1 ST ISR B

(A) U™ (B) UifeTuset

(C) TEAH (D) WH
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141.

142.

87

What is the main object (aim) of evaluation ?
(A) Maintain discipline

(B) Conduct examination

(C) Question paper setting

(D) Learner’s performance and improvement

AT T G Jg7T 8 7

(A) ST ST

(B) o{i&t I

(C) Se o3 SHEMT

(D) TPl hl IUCI T FHR AT

Elm[E
e

Example of Rabi crop is
(A) Maize (B) Soyabean

(C) Groundnut (D) Flax

T&lt <h A T 3T 2
(A) WeRl (B) HRTEH

(C) Hrett (D) 3Tl
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143. Which element is not present in child centered education ?

(A) Play (B) Inactivity

(C) Inspiration (D) Satisfaction

T shfegd e # <hi= |1 vl TR BT E ?

(A) @ (B) Tafssparan M
e

(C) oM (D) &

144. In ancient times messages were communicated by which medium ?
(A) Fax (B) Mobile
(C) Messengers (D) Telephone
T HehTt H TGl 1 HaR hiH & HIET & raT &7 ?
(A) Thed (B) HIETEA

(C) TR (D) Jefi®m

145. An example of Audio-Visual Teaching Learning Aid is
(A) Radio (B) Tape-Recorder
(C) Bulletin Board (D) Television
o — 3o Teregur-arferm wrft o1 SerEw B

(A) e B) -ferER

(C) TAfAaE (D) eAifersH
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147.

(89)

How will you be related to your father’s brother-in-law’s mother ?

(A) Mami (B) Nani

(C) Mausi (D) Sister

319k TaTsh 3 @t i 6 & 319eRT R fwar g ?

(A) W (B) At

(C) T (D) w&d
[E (8

Fuldol fair is held at Eﬁ

(A) Ajmer

(B) Jaisalmer
(C) Shahpura

(D) Alwar

FASIA h1 BT hal T 8 7
(A) IR

(B) G

(C) =Mm=gy

(D) 3IAANR
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148. Which of the following is the nearest planet to the Sun ?

(A) Jupiter (B) Earth
(C) Mercury (D) Mars
frferiaa o @ i a1 o3 o Frerean ug 8 7
(A) Feertd (B) T
©) (D) T
. Foll ffi d -
149. Following traffic sign indicates Eﬁ

iz

(A) Cross-road (B) Pedestrian crossing
(C) Railway crossing (D) Narrow bridge
= feam e AT Hehd ST AT & —

iz

(A) =T (B) Ueed UR U
(C) T SHITET (D) TRt gfera

150. Our National Calendar is

(A) Jana-gana-mana (B) Vande Mataram
(C) Shivira Calendar (D) National Saka
FHT TE =T 2 -

(A) SH-TO-H] (B) @AW

(C) Tfer q=m (D) TS 7
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INSTRUCTIONS / fodar
(Read carefully and comply / &9 & 9§ 3R 9Te &%)
IMPORTANT / Aga{ut

In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
Online Application Form. . . .
|ug I (WO ) § IET |81 & U] T €6 HeAT Hfeard ® @ amn &1 =7= srweff 3 wmwn 13§94 § Ao smdet-uT | fRar ©
In Section III (Language-1I) a candidate has to attempt the questions of the language which the candidate has selected as Language-1I in
the Online Application Form. The Language-II will be different from Language-1. ) .
Tug 111 (W—u)ﬁeﬁw%mﬁ%gﬁmaﬁaﬁ%ﬁvwmwawa’fﬁw—u%wﬁmaﬁaﬂ—wﬁ%m% |
ATT-11 HTST-1 & fores 2l |
The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place
in the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No.,
not ;%uestion Booklet Number. . . .

R 5 OMR diie # fatha @@ ) 9W- e ws e e o, w9 € | sl OMR e 1 i
LA AT WX TG Sfeh Ae-gRgaT €S e @ . & IMER R fHRar swm |

10.

11.

12.

13.

Read complete instructions carefully and fill the details from SI. No. 1 to 7 in the OMR Answer Sheet and SI. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising
duri]r};rg a%c%ﬂng Oﬁf your OM%A;%S_{WW Sheet.ﬁ OMR siz @& 5 ( ) = 5 | i
9 T § SAFYES g HATH | F 7 T C sffe Ud HHETH | ¥ 4 TF FE-gTR (JHoC | afg s o
%wﬁmmma«é%aﬁOMRaﬁzaﬁﬁﬁﬂé&WgﬁWW%qﬁmmmﬂﬁ%ﬁﬁ |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will
open the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number
requ%%g_l] (%MR Sheet will be as per %dﬁmi;%aﬁiﬁiss% gr)ﬁth% candida% and algs_fo%\_drgq_ern%)r%%dﬁ 0&%? top o%lf%{\(z()uestio% %%oklet. ofee
g~ H 96 98 TF 150 U T | W a f IUT BT - 1 = W -
¥ 15,093?%ﬁ%qgggaw3ﬁwwzﬁaﬂ9oa%ﬁ% | FTAAR e R firde Teer awefl o TR fofd T Ja9-v= & FER Siferd e
R U I -G &k FU W W S sifeRa e gem © |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark.
There will be no negative marking for wrong answers, . .
TH T TG TERE § | WA W 1 UF foshed & 621 R | W W & T frerficd sien uen ® | Toa s & o o ot et fed S |
All questions other than language questions of Sections II and I1I shall be bilingual.
WH-UF & AT T GU8 11 TF 111 & U1 o arfaiead A8 a9t guet & us fgwmha g |
Iﬁ any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in question/s during
the examination.
fereft et 9 et fe 3 fordt wamefl Y forelt wpR o1 Toham 71 BT | o Y srafy F vl 7 foRelt Yo B EE e AT ST |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided. .
TR h T 4 o W7~ [EehT oh 37w H STE o 141 € | 38 W -ieqent & 7161 e, | foret werr o srferfad svmrer Sy 1€t sveaman S |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instru-
T e g e g iceion: el S T/ T 1
Ul , , T3, , T&SI1es , I, ATEhIHIA AT A YhR T SEETU Eal
i 3 | 2 A ¢ e @ s i o E I
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR ¢fie gsA-gfeast & ara Afaikad uqe & |
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in
OMR Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to
4 entries correctly on the Question Booklet. After opening the Question Booklet, ensure that any page / question is not missing / not
printed / torn / repeated. In case, you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it
replaced within 5 minutes by the Invigilator. Warning Bell will ring at 5 minutes before closer of examination and the last long bell will
ring at closer of examination. . )
FTAT T A -YeasT TaE AR B % 10 fire adf € SRt | sivgef savas w9 8 OMR ofie § av wfafseat w98 R | W
YA -YeqeRT h €I TUEAT T & 5 e 9 @i 991 wE g 1 9 4 A1 ufaftedi @i el YR ¥ W | UE-gRe @i & 99
Tt aeRTe ae gieEa w) fe e FHES I55 € /1% U9 el a1 Tei &/ BIE T ¢ /FS el ] el & a1 FE I9
RIS # 29 YR , &k ﬁamsﬁm%ﬁmﬁwﬁaﬁqaﬁ—%
Jeeal o | =araHr T FAIT % 5 THe U Soiil TE tfea® ol Bel TheT qai W se |
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet
Number in the space provided in the Question Booklet as well as in the OMR Answer Sheet. . .
T - eqeHT $OMR sfte R fetRa ®mm R 7/, 938 & @1 RIS, TEER, AT, Te-gRaHt s wig, e HATs ud v gieqen
SHHTh 3Tfehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet
corresponding tq the question. For marking answers usg blue/black ballpoint pen only. Gel pens/pencils are not allowed. .
AT T o IR dhiodsh IO A, B, Cd D ¥ 163 T & | T hl EATYGh Ue o HEl STR T 99 FX S8 ITX I OMR 9fE 7 T i=rd F9 TR
T I TS 1 TR 3 ZAIA | IR B G 3 13 10 AT T3 a7 1= U T 1 STAN R | N I A1 AR 1 I Aot & |

%Y%Meth()d: CORRECT /&& nvé?rﬁ‘%%/[?th()di WRONG / et WRONG / e WRONG / e WRONG / Tei
’ OO0 e ’ HOOO||loQ00||0000O||0Oe0 @

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and at the backside of the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of
the candidate only. . . .

OMR < i FFIER GRT Hediehd o fo5d S 7 ® | A 3179 39 ud OMR e & s 18 W e w3 s o1 ure 7ei aed, a1 Segex
GRT SATIHT HEATH HSH S AT | 8 HROT § G2 1 B a1 Toha bl [SeerRT Sedh @ 6 grf |

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on the left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the
Original Copy is not mutilated in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator
before leaving the examination hall. Candidate can carry only the Candidate’s OMR copy with him/her. Question Booklet is not

allowed to be taken by the candidate.
Tenl Afrm Bel So % Yd UIET el § aTeR Tet S Gl | OMR Sfie @A fed 9um sfeft afed @ ek 9l O IWRRE

foran g ® |amﬁw%rm’ﬁﬁawﬁ?ﬁ9ﬁ(W)ﬁ@qﬁaﬁ@maﬁaﬁﬁmﬁ%ﬁaﬁ%ﬁuyuﬁaﬁaﬁé%ﬁﬁﬁl
weT-oe Bred & qd st OMR 6 e wfa Td ge-gfeaen dierch o 61 3 | sl Saet st OMR #Y wfer € araw a1 o S aat |
Ty-gfeant srvaeff s wrw A A o'






